Step 1
BBC Panorama – Immigration UK Threat: What is it about? 
Watch the introduction of the documentary (1':38") you are going to watch later in the lesson. It outlines the main issues to be discussed. Be careful while watching and do the matching exercise at the end of the introduction on your computers.

Step 2
BBC Panorama – Immigration UK Threat: Part 2 
Look at the tasks below, so that you know what you are expected to pay particular attention to while watching the video. At the end of each part you can check your answers on your computers and find out your score. 
Part 1: For each question choose the right answer.
1. When did Romania join the EU?
a. 6 years ago. 
b. 5 years ago.
c. 7 years ago.

2. According to the Romanian Ambassador in the UK, how many people have moved to the UK to find work?
a. Quite a few.
b. Very few.
c. Their number has not been officially recorded.

3. Why do Romanians prefer to immigrate to Italy?
a. Because Italy is close to their own country.
b. Because it is easier to find a job in Italy. 
c. Because the Italian language is closer to theirs.

4. What should immigrants know if they are to find a job in Germany very easily?
a. They should know computer skills. 
b. They should know the German language.
c. They should know how to drive a car.

Part 2: Choose the right answer to fill in the gaps.
1. Aura Popa studied in __________  and wants to work in __________.
2. Aura will not be able to bring her family in the UK until she knows her job is _________.
3. Alex Parvu worked for _________ on somebody's property but never got paid.
4. Magda, Alex's partner, would like to visit him in the UK for a __________ period of time.
5. Magda does not intend to leave Romania in order to claim __________ from the UK.


Part 3: Decide which of the following statements are correct.
1. a. 85% of the population in Slough are British.
    b. 85%of the population in Slough are non-British.

2. a. There is a lot of tension between the local population and the East European migrants living in Slough.
    b. The local population and the East European migrants live in harmony in Slough.

3. a. The majority of the people in Slough think that immigration causes problems to public services.
    b. A small minority of the people in Slough think that immigration causes problems to public services.

4. a. Ali, a Pakistani immigrant, thinks the Romanian immigrants in Slough get on well with the local inhabitants.
    b. Ali, a Pakistani immigrant, accuses the Romanian immigrants in Slough of not socializing with others.

Part 4: Decide which of the statement(s) answer the following question.

Which measures does the British government intend to take in order to control the situation?
1. New immigrants will only be accepted if they do not claim any benefits.
2. New immigrants will be given social benefits only for 6 months.
3. If new immigrants cannot prove they can really find a job, they will stop receiving social benefits.
4. New immigrants will be taught the English language so that they integrate with the local population better.
5. New immigrants will be not accepted unless they have a good knowledge of the English language.
6. Immigrant camps will be cleared.
7.  If new immigrants are caught rough sleeping, begging or engaging in anti-social behavior, they will be sent back to their countries of origin.
8.  When immigrants are sent back to their countries, they will not be able to re-enter the UK again.


